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Mbn thi: TOAN 12

TU LUAN

Caul | TXb=R 0.25
(1ad) y'=3mx* —2mx +2

+V6i m=0=y'=2>0VxeR= ydbtrén R. Suy ra m=0thoa man (1) 0.25

+Voi m#0 0.25
béy db trén R

m>0 m>0
oY 20vVxeR s & < 0<m<6(2)
A'=m*-6m<0 |0<m<6
Tr(l)+(2) =0<m<6. 0.25
Céau 2 0.25
(0.5d)
g'(x)=-2f"'1-2x)
= 0.25
1-2x=-1c) |~ 1(?
g'xX)=-2f'(1-2x)=0= f'(1-2X)=0<=|1-2x=2 & X:_E(L)
1-2x=3 x=—1(L)
Suy ra g(x) co 2 cuc tri.
Caus | s, -da 0.25
(1d)
Vi S.ABCD la chop déu 0.25
Goi O =AC ~BD = SO 1 (ABCD) = (SA, ABCD) = XSAO = 30"
0.25
ASAO : SO = OA.tan 30" :§.tan30° :%
Voo =Lsos, Lave ._Joa 02
S.ABCD 3 *~ABCD 3 6 ° 18 *
Cau 4| Xéthamsh f(x):x3+x2+(m2+l)x+m2—m—3 trén doan [-1;2]. 0.25
(0.5d)

Taco f '(x):3x2+2x+(m2+1)>0 VxeR=f (x)>0 vxe[-12]
Suy ra ham s§ f (X) dong bién trén doan [—l; 2]
min f (x)=f(-1)=—m-4

[-12]

max f (x)= f (2)=3m*-m+11

[-1:2]

Suy ra 0.25
max y = max f(x) = max{|—m—4|;‘3m2 —m+1ﬂ} =15

[-1:2]




|-m—-4|> ‘3m2 —-m +1]4
[3m? —m+11/=15
‘C%m2 - m+1ﬂ >|-m -4

|-m-4|=15
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